
L2(11).2 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 1 3× 1
4 0 121 = χ7,0, ϕ5,0

5 0 122 = χ7,1, ϕ5,1

6 0 123 = χ8,0, ϕ6,0

7 0 124 = χ8,1, ϕ6,1

blocks defect matrix

2.G : 8 0 125 = χ9+, ϕ7+

9 1 3× 1
10 1 3× 1
11 0 126 = χ14,0, ϕ10,0

12 0 127 = χ14,1, ϕ10,1

13 0 128 = χ15,0, ϕ11,0

14 0 129 = χ15,1, ϕ11,1

Block 1: ϕ1,0 ϕ4,1

11 = χ1,0 1 .
103 = χ4,1 . 1
111 = χ6,0 1 1

ϕ1,0 = 11
ϕ4,1 = 103

Block 2: ϕ1,1 ϕ4,0

12 = χ1,1 1 .
102 = χ4,0 . 1
112 = χ6,1 1 1

ϕ1,1 = 12
ϕ4,0 = 102

Block 3: ϕ2+

101 = χ2+ 1
104 = χ5,0 1
105 = χ5,1 1

ϕ2+ = 101

Block 9: ϕ9,0

106 = χ11,0 1
108 = χ12,0 1
1010 = χ13,0 1

ϕ9,0 = 104



Block 10: ϕ9,1

107 = χ11,1 1
109 = χ12,1 1
1011 = χ13,1 1

ϕ9,1 = 105


